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Aim: To check the following statement: in.a flow valve is

dependent on diameter and length (assuming that volume flow, viscosity,
and surface friction remain constant).

Sequence:

1. Construct control

2. Measure the required pressure gradient to force the full pump flow
volume through each of the restrictions
pressures in -the table provided.
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Problem:

A hydraulic double-acling cylinder is used to drive a fixture for
bending sheet metal.

1. Draw the circuit diagram.
2. Construct the circuit on the trainer

Positional sketch:
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Problem:

A hydraulic double-acling cylinder provides the feed motign for
a planing machine.

1. Draw the circuit diagram.
2. Construcl the circuit on the trainer

Positional sketch:
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Controlling the speed of a
double-acting cylinder independent
of load
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Exercise: Drilling machine

The feed motion of a drilling machine is hydraulic. The piston rod must not be pulled
out by the deadweight of the drilling head.

Procedure:

- Draw circuit diagram.
- Assemble control.

Positional sketch:
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Problem:

The slide of a dosing installation is driven by a hydraulic
double-acting cylinder

1. Draw the circuil diagram.,
2. Construct the circuit on the trainer

Positional sketch:
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Achieving equal piston speeds for
advance and retum
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Problem:

Material is hydraulically clamped on a sawing machine. To
prevent deformation of the work-piece, the pressure must be
reduced from 50 to 20 bar.

1. Draw the circuit diagram.
2. Construct the circult on the trainer

Positional sketch:
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Problem:

In order to achieve fas! feed on a sawing machine, two pumps
are used. During the cutting phase the low pressure flow
volume is to be direcled to the reservoir in order to save
enerqy.

1. Draw the circuit diagram.
2. Construct the circuit on the trainer

Positional sketch:

Rapid feed control using two pumps.
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Controlling the speed of a

N2.a

double-acting cylinder independent

of load
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